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The tree diagram below shows the percentages of students who took a safety course and who

were injured within the following year. _ _
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1. FindP (Did not take safety course AND was not injured)

(0-1§)(o.éﬂ = [o-/c2s |

2. What is the overall percentage of students who were injured?
P(ﬁ\jufed) — ?s*lfo.or) + (o. 2.5_)(-0'?5‘\ ot !0.;2_{‘7 &r ({2,{% ]

The tree diagram below shows the percentages of students who helped set up a charity walk
and the percentages of those who walked in the event. Of the students who helpe‘d set up,
80% walked. Of the students who did not help set up, 60% walked. .
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3. Place the correct percent in the blank above on the tree diagram and explain what is
meant by having that probability. |
The percent o T choteds that dod rot walic Jrvem those ot

helped se+d up. _
4. Find P(Helped set up AND Walked) = (0- g ) 0- €0) ’2]0. ¢ &)

5. What is the overall percentage of athletes-who did not walk?
Sucdewts

P(died rot walic) = (0 25Y0. 10) + (o.15 )\ o0.29) =(0-23 or 23%]



+ The tree diagram shows the percentages of ;:ieople who wialk or drive to work and
whether they bring lunch to work or buy lunch.
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- Of the people who-::irive to work, only 25% buy a lunch. Of the people who walk to
work, 35% bring a lunch.

6. Complete the tree diagram.

7. Find P(Walk to work AND Bring lunch)

= (0.(5)(0.35) = EE:E?_S“J

8. Whatis the overall percentage of people who brmg lunch?

= (0 (sY0.35) + (o g 5)(o. 75‘\ f-w or L /



